1.

[ Jorol g A2 WP oA L.

lmZZDmXDm:DcmXDcmzljch




[ Jorol g A2 WP oA L.




3.

[ Jotel Sl e 48 ez 2402,
(1) 24 km? =| |ha—| |a:
(2)86ha=] Ja=] jm? = Jlem?

5 J=X
-
&=
-
&=
-



4. [ Rl 5012 48 Aelz e,
1400000m2 =[ o =] ]ha









a

© m?

@ cm?

@ km?

A9 yol: o360 |

ha







2
=
il
2
i
4>
N
N
o
ru
P
filo
K
I
>
lo

@ 0.9ha=[ |m? @ 600m2 =] Ja
® 1.7t =] kg @ 80000kg = |t
® 60ha=[ |a



10. % Yol2 Wlmsto] > = < 2 A4 LEhjA Q.
4m? O 39000 cm?

5 S
=%



11. $099] o]z} sm o], ool o]z} 14m , ol7 9m < Abeh
22 mapo] o] gt of Wo] ol Wm? 917 kA 2.

B .

Hir









4. 937

® ©

EEMEES
Apo) 7

kAR 10 W] 7]

AL (t) 2z ezl 7Hg &

d

o o
re 718 of i 519)

A

@ & 7 7o) 2

@ E29] 5



O =3 oM F719] @918 t o= Y= A2 25 9 791X
PAQ.,

@ EH © AHrE1d © 714
® At 7A @ oA @ Fond

> EE A



16. O ¢gtoll >, =, <& gUA HEOoAQ,
1.2t O 1200 kg

D L
=



17. ok BAY S9IA Sbg 2

29 7]

X

i

@ lkg

© 1g




18.

d&ol9 EF-A= 40kg Y

100 Hj2HH d592e] B2A=

> R t

ct.
]



19. o §l ghef 59

90000 m? = |

GRkis St
ha= =] [lm

R
‘:"7



20. [ ko] 9o 45 et Ao,

M14a=[ Jm*=[Jha

(2) 2.03km? = | lm? =| = |ha

5 J=X
=%

D S
=F
=

-



21.

S = A7} vi2 2] e A

rlo
2
Ir

D 4m = 400 cm

@ 70000 cm? = 7m?
® 12m2 = 12000 cm?
® 630000 cm? = 63 m?

@ 480000 cm? = 48 m?



22. ol Hluste] Oftell >, <& IR A Y oAl
6500002 O 56 km?

5 S
=%



SHA ..

A 7

—_

ha®

BK

29| Hole

o}

23.

ha



24. H=< 7P 772 AR AR 7|28 242,

@ 30t 7190kg © 37290kg
© 38t @ 37980kg

o e



25.

SHlo]u] nh2el At & 4Rk RA7} 18ks A AR 250 42 8
Bk Seol] uheo] 4t Sete B E ¢ 917 FoHAL.

B e t



